औरंगाबाद शहर आरो	ग्य समिती महानगरपालिका औरंगाबाद. (आरोग्य विभाग)
दुरध्वनी क्र.(०२४०) २३३३५३६-४० (विस्तार) २३९ कार्यालय दुरघ्वनी क्र.०२४० २३३८०२८ फॅक्स क्र. (०२४०) २३३१२१३	पत्ता - औरंगाबाद महानगरपालिका, आरोग्य विभाग, मुख्य कार्यालय,टाऊन हॉल औरंगाबाद ४३१००१ Website - <u>contact@aurangabadmahapalika.org</u> Email ID - fwsipamcabd@yahoo.co.in
आरोग्य सेवा	जा.क.मनपा/आरोग्य/एनयुएचएम/ 2/२०१८ वि. 10/२०१८

दरपत्रक सुचना

प्रति

विषय :- एनयुएचएम कार्यालय, सिटी मार्बल बिल्डींग औरंगपुरा येथिल दुरुस्ती व नुतनीकरणाठी दरपत्रक मागविणे बाबत.

उपरोक्त विषयी आपणास कळविण्यात येते कि, औरंगाबाद शहर आरोग्य समिती महानगरपालिका, औरंगाबाद अंतर्गत एनयुएचएम कार्यालय सिटीमार्बल विल्डींग येथे औरंगपुरा येथे आहे. सदर कार्यालयासाची दुरुस्तीचे व नुतनीकरणाचे काम व थोडयाफार प्रमाणात कार्यालयीन साहित्या खरेदी करण्यासाठी खुल्या बाजार पेठेतुन निवीदा मागवीण्यात येत आहेत. त्यासाठी खालील प्रमाणे साहित्य खरेदी करावयाचे आहे त्याची यादी खालील प्रमाणे आहे.

	DETA	IL ME	SURE	EMEN	T						
Name Of Work:-											
Sr. No.	Description	UNIT	NOS	L	В	D/H	Quantity	Total Quantity	Rat s		
1	Providing and applying plastic emulsion paint of approved quality, colour and shade to new surface in three coats including scaffolding, preparing the surface. (excluding primer coat) etc. complete.Spec.Bd.P.6 Page No. 414 & Preapproval of Superintending Engineer, page .no- 198 SSR item no. 36.14.	SQM									
			1.00	4.90		3.00	14.70				
			1.00	4.80		3.00	14.40				
	CELLING		1.00	4.90	5.90	-	28.91				
	DR.ROOM		1.00	4.50	-	3.00	13.50				
			1.00	3.65	-	3.00	10.95				

	CELLING	1	1.00	4.50	3.65	-	16.43	1
	TOILET		2.00	1.30	-	0.90	2.34	
-			2.00	1.30	-	0.90	2.34	
	CELLING		1.00	1.30	1.30		1.69	~ ~
	CELLING		1.00	2.65	2.00	-	5.30	
		1	1.00	12.40		3.00	37.20	
	CELLING		1.00	11.00	3.10	-	34.10	
1	CELLING BEAM		4.00	3.10	0.45		5.58	
-	WAITING	-	2.00	4.35	-	3.27	26.10	
1			2.00	10.40		3,84	62.40	
- 3	CELLING	1	1.00	10,40	4.35		45.24	
	CELLING BEAM	-	4.00	3.45	0.45		6.21	
-	CABIN		2.00	2.20		3,06	13.20	
-	CELLING		1.00	3.45	2.20		7.59	
- 1	TOILET COMMON		2.00	1.30		1.50	3.90	
	TOLET COMMON	1	2.00	2.50	<u> </u>	1.50		
	CELLING		1.00	1.30	2.50	1.2	3.25	-
_	LOBBY	1	1.00	2.90		1.75	5.08	
-	CELLING		1.00	2.90	1.75	-	5.08	
-	TOILET G		2.00	1.10		0.90	1.98	
			2.00	1.30		0.90	2.34	
-	CELLING		1,00	1.30	1.10	0.90	1.43	
-	TOILET		2.00	1.30	1993 1997 19	1.50		
_			2.00	2.50	•		3.90	
-	CELLING				-	1.50	7.50	
_	CELLINO	F	1.00	1.30	2.50	•	3.25	202.20
	DEDUCTION OF DOOS AND WINDO	W/S						393.38
-	DEDUCTION OF DOOS AND WINDO	1	7.00	1.00	1	1.20	15 12	
			a secondaria	1.80	•	1.000	15.12	
_	ಳು ಸಲ್ಗಳು ಬಿಂದ ನಿಂದ ಸಂಪರ್ಧ ನಿಂದ ಸಂಗರ		6.00	0.75	_	2.10	9.45	1. (
			2.00	1.00	-	2.10	4.20	20 77
		-	1		<u> -</u>			28.77
5	Providing and applying two coats of synthetic enamel paint of approved colour to new /old structural steel work and wood work in buildings, including scaffolding if necessary, cleaning and preparing the surface (excluding primer	SQM						364.61
	coat) etc.complete. Spec.Bd.O.5 Page No. 405 , page .no- 194 SSR item no. 35.07.		7.00	1.80	-	1.20	15.12	
-	GRILL	0-0-0	1.00	2.90	-	1.20	3.48	
	0		1	=			0.10	

							34	
3	Providing and fixing White Glazed Earthenware full stall type Urinal with P.V.C. flushing cistern of 5 liters capacity with fitting, inlet pipes and stop tap, brackets for fixing the cistern. 32 mm dia. P.V.C flush pipe with fittings and flushing arrangement including lead soil pipe, lead trap. soil pipe connectionup to the outside face of the wall.Spec.NoBd.V.23 Page No. 562 .no- 241, SSR item no. 41.57.	NOS						
	TOILET	2	1.00	-	 -	1.00		
4	Providing and fixing 10cm C.I. Nahani Trap including C.I.grating bend and piece of C.I. pipe upto the outside face of the wall complete. Spec.No.Bd.V.32 Page No.567.no- 245, SSR item no. 41.80	NOS					1.00	
			3.00		÷	3.00		
5	Providing and laying in trenches 15 mm dia. medium grade having embossed as ISI Mark galvanised iron pipes of 1.25 kg meter necessary fitting remaking good the demolished portion with filling trenches and with primer of anti- corrosive oil paint . 2 coats complete.Spec.No.Bd.V.5 Page No. 551 .no- 237, SSR item no. 41.18.	RGM					3.00	
			1.00	15.00		15.00		
6	Providing and fixing 15 mm dia. screw down bib/ stop tap of brass including necessary socket union nut complete.Spec.No.Bd.V.8 Page No.554 .no- 240, SSR item no. 41.40.	NOS					15.00	
	59		1.00		 	1.00		
			1.00		 	1.00	1.00	
7	Removing & Refixing doors and windows with frames and stacking the materials as directed with all leads, lifts, complete. As directed by Engineer in charge	NOS					1.00	
	DOOR		9.00		 	9.00		
8	Providing and fixing window rod for etc completed Preapproval of Superintending Engineer	Nos					9.00	

7.00

7.00

7.00

31

, ,



9		SQM						
	Providing and fixing Novapan partition 12mm thick both sides laminated aluminum frame of size 65mm x 40mm size rubber packing aluminum leat 6mm thick glass partition fixed in aluminum frame of size 65mm x 45mm with aluminum cleat rubber packing etc etc. complete							
			1.00	3.45	2.20	-	7.59	
10	Providing and fixing 12mm thick glass partition fixed in aluminum frame of size 65mm x 45mm with aluminum cleat rubber packing etc. complete. As directed by Engineer in charge.	L/S						7.59
	table		1.00	0.75	1.70	-	1.28	
			4.00	0.30	0.30	-	0.36	
_								1.64
11	Repair & refixing cup board & table with accessories lock Etc complete. As directed by Engineer in charge	Nos	12.00		- 		12.00	
20		17	12.00				12.00	12.00
12	Providing and fixing C.P. Angular stop clock with wall flange Jaquar make or equivalent continental (CAT.NO. CON- 059) including necessary sockets/union nut etc. complete.Spec. No.BDV Page No.: 341 Item No: 42.79	NOS						12.00
~~~~			4.00				4.00	
13		NOS					1 87 S	4.00
	Providing and fixing C.P.Two way BIB cock jaquar make or equivalent continental (CAT.NO. CON-041) including Supply and Sanitary Fitting by Engineer in charge equivalent continental (CAT.NO. CON-041) including necessary sockets/union nut							
	etc. complete.Spec. No.BDV Page No.: 341 Item No: 42.80							
	State in the second state of the		1.00				1.00	

			12		1000	1.62	12	
		1	12	-		-	12	
13	Supplying and erecting electronic ballast, pf > 0.9 or Transformer suitable for T5 lamp upto 28 W as per specification No. FG-FG/AS1 Chapter-2.2/ Item No.2-2-3							
19		EACH						8
			8	-	-	-	8	
18	Supplying and erecting electronic type step regulator for ceiling fan 600/900/ 1200/1400 mm. sweep,ETC COMPETED.	EACH						
								3
	COMPETED.		3	-	-	-	3	
17	Supplying and erecting Five Star Rated Energy Saving Ceiling Fan 230 V A.C. 50 cycles 1200 mm completeETC	NOS						
								31.34
			1	31.34			31.34	
10	Supplying & erecting mains with 2x2.5 sq.mm F.R copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places. as per specification No: WGMA/BW Page No.: 06 Item No: 1-3-3							
16	Supplying & practing mains with 2v2 5	MTR						31.34
			1	31.34		-	31.34	
	sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places as per specification No: WGMA/BW Page No.: 06 Item No: 1-3-2							
15	Supplying & erecting mains with 2x1.5	MTR						16
			1	16	•	-	16	
14	Providing and fixing on walls/ ceiling/ floor 25 mm dia. CPVC pipe with necessary fittings, remaking good the demolished portion etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.Spec. No.BDV Page No.: 340 Item No: 42.57	RMT						
1/1		RMT		1 1		n i	1 1	L.

S.

	Supplying and erecting Modular type 5 pin socket with safety shutters 3 module socket 6A. 240V AC supply, ISI approved and marked make duly .ETC COMPETED.	EACH						
		2	5		-	( ) <del>,</del>	5	
21	Supplying and erecting LES 12 W with ceramic adopter p.f. more than 0.9	EACH						5
0.15-520			30	-	-	-	30	
							1	30
22	Supplying and erecting T5 28 W energy efficient fluroscent tube. Chapter-2.1/ Item No.2-1-14	EACH						
			5	1.70			5	
								5
23	Supplying and erecting Centrifugal water pump (Monoblock), 230V, single phase 50 cycles A.C.supply of 1.00 HP ETC COMPETED.	EACH						
		1	1	-	-	2	1	2
_								1
	Supplying and erecting unbreakable concealed type modular switch box				- 9			
	with double mounting plate for 16 / 18 module duly erected flush to wall with ETC COMPETED.		2					
	module duly erected flush to wall with		2		-	-	2	
25	module duly erected flush to wall with	EACH				-		2
25	module duly erected flush to wall with ETC COMPETED. Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 6	EACH	2	-	-	-	2	
25	module duly erected flush to wall with ETC COMPETED. Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 6 moduleETC COMPETED. Repair & refixing board Etc complete. As directed by Engineer in	EACH				-		2
	module duly erected flush to wall with ETC COMPETED. Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 6 moduleETC COMPETED. Repair & refixing board Etc		2			-	2	
	module duly erected flush to wall with ETC COMPETED. Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 6 moduleETC COMPETED. Repair & refixing board Etc complete. As directed by Engineer in					-		2
	module duly erected flush to wall with ETC COMPETED. Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 6 moduleETC COMPETED. Repair & refixing board Etc complete. As directed by Engineer in		2			-	2	
26	module duly erected flush to wall with ETC COMPETED. Supplying and erecting unbreakable concealed type modular switch box with double mounting plate for 6 moduleETC COMPETED. Repair & refixing board Etc complete. As directed by Engineer in charge Repair & refixing Five Star Rated Energy Saving Ceiling Fan 230 V A.C. 50 cycles 1200 mm complete. Etc complete. As directed by Engineer in	EACH	2			-	2	2

6

28	Repair & refixing T5 28 W energy efficient fluroscent tube Etc complete. As directed by Engineer in charge	EACH						
			6	-	342	-	6	
29	Supplying and erecting modular type switch 16A ISI mark approved make duly erected on provided plate and .ETC COMPETED.	EACH						e
			1	-	÷		1	
								1
30	Repair & refixing A.C of 2T & 1.5T complete. Etc complete. As directed by Engineer in charge (as per market rate)	L/S						
			4	-	-	-	4	
								4
31	Providing and fixing H.D.P container Syntex or alike one piece moulded water tank made out of low density polythyler and built corrugation including of delivery up to destination hoisting and fixing of accessories such as inlet, outlet overflow of all tanks capacity above 1000 to 20,000 litres							
	1000 (0 20,000 m/cs		1	1000		-	1000	
								1000

38

सदरील साहीत्या दुरुस्ती व नुतनीकरण सोबत दिलेल्या गुणनिदेश गुणवत्तापुर्वक असावे आणि सोबत खालिल दस्ताऐवज सादर करावे.

अं.क्रं.	दस्ताऐवज
8	पॅन कार्ड सत्यप्रत
२	व्हॅट नोंदणी
R	शॉप ॲक्ट लायसन्स
४	बॅक डिटेल्स
ų	दरपत्रक रेट
Ę,	तिन वर्षातील ताळेबंद पत्रक